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Step 2 of Alg :
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back to the start, see
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"r" is a id
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> length of the input
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Next assume

Q = 41 , 4 -- - wab

nq= (1)

Define : A DEA : (Q
,
E
,
%
, quif)

is standardized if

for some NQing

Q = [1 ,2 - -
,
ha]

5 = [12 , ..., May



Then
, given

DEA : (Gh-- Mobi Eli,Mab,g)
mi

[M)
or suephbet

&
dea descript [41--, 9 , 1 , y



SalO 23 , 5 , 90 . 6)

5 :Qx5 + Q
here

5 : <12 ,33 x Gisz -> G123)

90
e [1 . 2 , 33 : Q

FC &12 , 33 = Q

(m)value...



One convention

& (1
, 1)

- Guzi]

51
,
2) 6912, 33

G (2, 1) e -
-

5(2 ,2) c-

5(3
, 1) + -

&(3
,
2) - --

So to describe fi

& (1
,
1) # &(1 ,2) # ... #

90 ,
F


